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TE A #¢E l =32
@® 0.0248
® 40

] © ‘QE[g/cmBJT_—?
® 0.025
@ 403

2. 17134, 298Kl A %—Fsk: (H7>e] A7)8lst Ao M-S
AL § Y& WHo] opd A2?

H7]

Cu(s)|Cu**(aq, IM) || Ag*(aq, IM)|Ag(s)

@ Cu**(aq) 8 ¥EE 2MO g Z7HA7Ith
@ Ag'(a@) 9 BEE 2MoE Z7MA7t
@ 75 ¥EE 400KE =Ht}

@ o gHE 27IgeE A,

L AN
H7]
o, BaY LoSa AR
c AFAAFA Y = ole-AFA Y
O 7, v @ v, ©

4. (B7DE | ¥y AAE dm/WeR JErd
Aolth A Aol dojub= o] A9 Abs-2he
LS o] 73 HL Ao A NO(g) 9 AF=?

B
Sn(s)|Sn?*(ag) || HNOs(aq) | NO(g) | Pt(s)
O 2 @ 3
®5 @ 6

5. A5 A (biopolymer) ¢+ 71 TRAE +A s SHIAE
A @A AR AL?
O & (protein) — o]
@ #MAiH(nucleic acid) — 7 # 2 EFo] = (nucleotide)
® = (starch) — FF I 2 (glucose)

@ RBEZA(cellulose) — = E A (fructose)

AH(amino acid)

6. WE ATl BF ZIAD o (BRI e 24
T AHkSol ALHOR dojus Aevte BF IE
AT

87
1. Q<K (Q:¥he A4 K: By A%
L. AGe=0 <AG° : sz t&% A Al A)

@® -
® L, ©

= Au ?
B
. AR A E
v AR
T, Al o3} oA
® -, v ® 1, ©
® v, © @ 1, v, ©
8. (B7]) F 74 AU LAl (alkene) SEEL?
H7]
1. 2,3-dimethylbut-2-ene
v, 2,3-dimethylbut-1-ene
©. cis-but-2-ene
2. trans-but-2-ene
® ® v
® c @ =

9. ZHA AAINA Ho|FE F3FEQ FeCly’ o FA
FE0]29] d-2Hgel £ 3= & A} unpaired spin)
FA1=?

@ 0 @1
® 3 @5

10. 5CollA 2FAF HAS #HF7] NaAS &35l o=

83 go1n L1070 2, HAS) 4t ole st 34
K.=10x10"% o), o] &3 &) pH #2?

® 30 @ 4.0

@ 5.0 @ 6.0




sslE(r2) || B
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HBr(g) ¢l & A4

11. <B71) F VAL 7HE B2 Jd9diel sigss R?
B
oL XA L, "fol a2 39}
T, 7HA1EA 2. A9
®© ® v
® c @ =
12. <B71H>Y 5F wbs Ay (J/E ol &3t +3

g [kI/mol]l=?

Hy(g) + Bry(g) — 2HBr(g)

B7]

AH® =-103kJ/mol

Bry(1) — Bry(g) AH?° =31kJ/mol
® -36 @ -72
@ -103 @ -134

13. ol¥AZ 74
RHoZ M &2

D 0" >0

@ B;> By

RAE?

g By o] Ae dolE W

15. <BE7)e) gd=Ast 42 T

Bedol 71 B2 e

1. CH3CH,CH,-Cl
—. CH;CH,CH,-Br

R7

L. (CHs3),CH-CI
2, (CHs),CH-Br

@® " @ v
® c @ =
16. 58 A9 Z7g0l hd 49O bg &

B ALY

O TLE(AH=zy)ol 255 F71¢2 2t

@ L&t ¥4 Z/9¢e A

® 23 7+ Aol 4% F/1¢S Atk

@ AAe) BERS AAe] Z715b0] 9157145} Lo
exol

17. 4] YA X Yol st 22 EA Fo7t
72 7HE £7) 0 ol Gholl= XY(g) 12gE,
thel = XY2(g) 8g= o £7] WH =2 b7t
e 2otk X9 Yo 9xtEH| 2 1R &8 ALY

woj o
'5‘9\1\—]2

(& XY(@) & XYi(g)& wH3kA &3, o371z
7H3%ket)

D1:1 @®2:1

@ 3:1 @4:1

8. FAatstet vl F[Mg(OH) 13 HBr 89 7+¢] F3t
SO tigk g o] wh3-A2?

® Mg(OH),(s) +2H"(aq) + 2Br (aq)

— Mg?*(aq) + 2Br (aq) + 2H,0(1)
® 20H (aq) + 2H"(aq) — 2H,0(1)
® Mg**(aq) + 20H (aq) + 2H*(aq) + 2Br (aq)

— Mg (aq) + 2Br (aq) + 2H,0(1)
@ Mg(OH)(s) + 2H*(aq) — Mg?*(aq) + 2H,0(1)

19. mA]9 88k A, B, C, Dol tlsl} (E71>9] 324 71%

w30 2 FAEE A 9he2] 2A+B —C 9] vh& 2
o7 M & A2

H7]

kl

A+B —C+D (slow)
A+C —k—2>D (fast)

ks
2D — C (fast)
@ K, [A](B]
@ k,[A][C]
® k[DJ?
@D kykyky[AL?[B]

20. 7V B1gs Foli FxRo dAt A AR v
(VSEPR) ©]&& <AZE, PF:} PFsoll tdk Ao =2
Mg &S AT

® PF3¢ PF:9] PAxE= 8709 AxE 7H0
®@ P9 32 H3t= PFsot PFs7F 2ot

® P9 HFf AAE = PFi¢t PFs7F 2ot
@ PF3¢ PFs 25 F74d°lth



